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The efficiency of an ideal heat engine working
between the freezing point and boiling point of
water, is

1) 268%
(2) 625%
(3) 20%

4) 12:5%

At what temperature will the rms speed of
oxygen molecules become just sufficient for
escaping from the Earth’s atmosphere ?

(Given :

Mass of oxygen molecule (m) = 2:76 x 10726 kg
Boltzmann’s constant kg = 1:38 x 102 JK™h
(1 2508x10*K
(2) 5016x10*K
(3) 8360x10*K
4) 1254x10*K

The fundamental frequency in an open organ
pipe is equal to the third harmonic of a closed
organ pipe. If the length of the closed organ pipe
is 20 c¢m, the length of the open organ pipe is

(1) 132cm

(2) 12-5cm
(3) 8cm
(4) 16cm

The volume (V) of a monatomic gas varies with
its temperature (T), as shown in the graph. The
ratio of work done by the gas, to the heat
absorbed by it, when it undergoes a change from
state A to state B, is

\Y%

T

o

%T
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(2)

3

4)
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1) 268%
(2) 6:25%
3) 20%

4) 12:5%
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(B=03
SR 90T 08 (m) = 2-76 x 10726 kg
WpuRs et ky = 138 x 10723 J K1)
(1) 2-508x10*K
(2) 5016x10*K
(3) 8360x10*K
(4) 1254x10*K
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A battery consists of a variable number ‘n’ of
identical cells (having internal resistance ‘r’
each) which are connected in series. The
terminals of the battery are short-circuited and
the current I is measured. Which of the graphs
shows the correct relationship between I and n ?

I—
@ !
(@) —>n
|
(2 Tf
(@) —n
I
3 T i
0) —>n
I
@ !
(@) —>n

A carbon resistor of (47 + 4-7) kQ is to be marked
with rings of different colours for its
identification. The colour code sequence will be
(1) Violet — Yellow — Orange — Silver

(2)  Yellow — Green — Violet — Gold

(3) Yellow — Violet — Orange — Silver

(4) Green — Orange — Violet — Gold

A set of ‘n’ equal resistors, of value ‘R’ each, are
connected in series to a battery of emf ‘E’ and
internal resistance ‘R’. The current drawn is I
Now, the ‘n’ resistors are connected in parallel to
the same battery. Then the current drawn from
battery becomes 10 I. The value of ‘n’ is

(1) 10

(2) 20
3 11
4) 9

[Beowerds ‘n’ BognY BT FeeBndSy (T
£308038R3 ‘T’ éfao@cﬁod) BRoOTIT 2,080 WO,
Ferd  EREEODY,  Feoad.  wwdon  BONYSY
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DO FSBRBEINT. B3 FFR eRTOT 3R IFS I
08 n FRBIDT BORT FoL0FRI) ERORZTI
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I

(2) Tf
(@) —>n
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3) T i
0) —n
I

4) T i
(@) —>n

(47 £ 47) kQ T 200 50 SRepsse), w3ed o3ed
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MOTOBRRBERNT. 333 e Foged 331 33 IBNT08T
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(2) S0 - T - FeTY - R’eee)

(8) =90 - Fea - §e=0 - AT
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Dwwey I snd. ssn ‘n’ dxaecjr{%ﬁmq 973 30630 ER3IH
TRR08T BB IRRWN BES TT Bwmm) 10 1
BATCIRT3 ‘1’ 3 IS0

(1) 10
(2) 20
3 11
4) 9
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10.

11.

Current sensitivity of a moving coil galvanometer
is 5 div/mA and its voltage sensitivity (angular
deflection per unit voltage applied) is 20 div/V.
The resistance of the galvanometer is

(1) 40

(2) 250Q
3) 25Q
(4) 500Q
A metallic rod of mass per unit length

0-5 kg m! s lying horizontally on a smooth
inclined plane which makes an angle of 30° with
the horizontal. The rod is not allowed to slide
down by flowing a current through it when a
magnetic field of induction 0-25 T is acting on it
in the vertical direction. The current flowing in
the rod to keep it stationary is

1 714A
(2) 1476 A
(3) 598A
(4) 11-32A

A thin diamagnetic rod is placed vertically
between the poles of an electromagnet. When the
current in the electromagnet is switched on, then
the diamagnetic rod is pushed up, out of the
horizontal magnetic field. Hence the rod gains
energy. The work

gravitational potential

required to do this comes from
(1) the current source
(2) the lattice structure of the material of the

rod
(3) the magnetic field
(4) the induced electric field due to the

changing magnetic field

An inductor 20 mH, a capacitor 100 uF and a
resistor 50 Q are connected in series across a
source of emf, V = 10 sin 314 t. The power loss in
the circuit is

(1 079W
(2) 274 W
(3) 043W
4 113W

8.

9.

10.

11.
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1) T7T14A
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(3) 043W

(4) 113W
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12,

13.

14.

15.

An object is placed at a distance of 40 cm from a
concave mirror of focal length 15 cm. If the object
is displaced through a distance of 20 cm towards
the mirror, the displacement of the image will be
(1) 30 cm away from the mirror

(2) 30 cm towards the mirror

(3) 36 cm away from the mirror

(4) 36 cm towards the mirror

An em wave is propagating in a medium with a
velocity ?7 = Vli\ . The instantaneous oscillating
electric field of this em wave is along +y axis.
Then the direction of oscillating magnetic field of
the em wave will be along

(1) - zdirection

(2) -y direction

(3) + z direction

(4) —xdirection

The magnetic potential energy stored in a certain
inductor is 25 md, when the current in the

inductor is 60 mA. This inductor is of inductance

(1) 0138H
(2) 1-389H
(3) 138-:88 H
(4) 13:89H

The refractive index of the material of a prism is
J2 and the angle of the prism is 30°. One of the
two refracting surfaces of the prism is made a
mirror inwards, by silver coating. A beam of
monochromatic light entering the prism from the
other face will retrace its path (after reflection
from the silvered surface) if its angle of incidence

on the prism is

(1) 60°
(2) 30°
(3) 45°
(4) zero

12.

13.

14.

15 cm FonEOBATRTES 2,080 Ae8y BRFEHH0E 40 cm
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(2) TBFed 31 30 cm RN

(3) TBFeHQOT 36 cm FRTE
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(2) 1-389H
(3) 138-:88 H
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(1) 60°
(2) 30°
(3) 45°
(4) 3e3
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16.

17.

18.

In the circuit shown in the figure, the input
voltage V; is 20 V, Vg = 0 and Vg = 0. The

1

values of Ig, I; and B are given by
20V

(1) Ig=40pA,
(2) Ip=20puA,
(3) Ip=25puA,
(4) Ip=40pA,

I =10 mA, B =250
Io=5mA, =250
Io=5mA, =200

Ic=5mA, f=125

In a p-n junction diode, change in temperature
due to heating

(1) affects only reverse resistance

(2) does not affect resistance of p-n junction

(3) affects only forward resistance

(4) affects the overall V — I characteristics of

p-n junction

In the combination of the following gates the
output Y can be written in terms of inputs A and

B as

Ae L

Be [ > Y
>c

1 A.B

(20 A.B+A.B

3 A.B+A.B

4 A+B

16.

17.

18.

WSTY, BROATVT  AWTROBORY, g Fpeddee®
B 1Y 3Sneb 391 DercOR0Z

(1) Ig=40pA,

Io=10mA, B =250

(2) Ig=20uA, Ig=5mA, f=250

(3) Ig=25pA, Io=5mA, f=200

4) Ig=40pA, Io=5mA, p=125

p-n  WoFS QdeeE D BRCEIPTO0T

SUFFOD RO WHRBFTOI0

(1) &R0 BReTITY Bg, TOFFRO HVOLIBREIZT

(2)  p-n woFT'S CReT Boed BOFIRD
GUOEDTNBRRY,

(3) R BREFITY BRE, TWOFFRO HVOLIBRBEIZT

(4) p-nweFTIV — I <gedss Boed Fpeas
PO WETIZTI

TRONPOTINTIN WERCBFRODNY, LN A =083 B nvg,
ANFBY o B3 068 LTCDWTOW

Ae L

Be ( >c v
1) A.B

(2) A.B+A.B

3 A.B+A.B

4 A+B
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19.

20.

21.

Unpolarised light is incident from air on a plane
surface of a material of refractive index ‘W. At a
particular angle of incidence 7, it is found that
the reflected

perpendicular to each other.

and refracted rays are
Which of the

following options is correct for this situation ?

(1) Reflected light is polarised with its electric

vector parallel to the plane of incidence

(2) i=sint (1]
1)

(3) Reflected light is polarised with its electric

vector perpendicular to the plane of

incidence
(4) i=tan™’ (1J
U

In Young’s double slit experiment the separation
d between the slits is 2 mm, the wavelength A of
the light used is 5896 A and distance D between
the screen and slits is 100 cm. It is found that the
angular width of the fringes is 0-20°. To increase
the fringe angular width to 0-21° (with same A
and D) the separation between the slits needs to

be changed to

(1) 1-8mm
(2) 2:1mm
3) 19mm
(4) 1'7mm
An astronomical refracting telescope will have

large angular magnification and high angular

resolution, when it has an objective lens of
(1) small focal length and large diameter
(2) large focal length and large diameter
(8) large focal length and small diameter

(4) small focal length and small diameter

19.

20.

21.

38,038 AR08 W QTR 20w FROB FRIT e
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(1) Bepo2 ¥ Ghostereed ©@3 ame
RO3Y T3 PR FRIOF ARROITTNTZTS

(2) i=sin! (1)
1)

(3) BEFIZ w8 RBS Reodd 9ot ATy
ROTP) STWBRRVAT FBOT ©OWTINTIT

(4) i=tan! (EJ
1)

00ONT®  AFTIOR T,03RENTY, AFIMIORNY IBID
@030 d 030 2 mm, WHRT PSS ITorMoIT A I
5896 A =3y D =33 acsbrdoans I@03 3nd
100 cm &T3, 203N dreQeod @newmy) 0-:20° Hod
Bom> oW, HowrnY Feedecd wnomsy 0-21° &
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eFonI0RNY 2080

(1) 1-8mm
(2) 2:1mm
3) 19mm
(4) 1-7mm

2,000 DReeY [eIBS BRSESrEY) BE dredead
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RORRTR)

(1) 3a Bonsd Bed Boe Beiy =3

(2) TS Ao BT [oB T w93
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22,

23.

24.

25.

A tuning fork is used to produce resonance in a
glass tube. The length of the air column in this
tube can be adjusted by a variable piston. At
room temperature of 27°C two successive
resonances are produced at 20 ecm and 73 cm of
column length. If the frequency of the tuning fork
is 320 Hz, the velocity of sound in air at 27°C is

(1) 330 m/s

(2) 350 m/s
(3) 339 m/s
(4) 300 m/s
A pendulum is hung from the roof of a

sufficiently high building and is moving freely to
and fro like a simple harmonic oscillator. The
acceleration of the bob of the pendulum is
20 m/s? at a distance of 5 m from the mean
position. The time period of oscillation is

1) 2ms

(2) 2s
3) ms
4) 1s

The electrostatic force between the metal plates
of an isolated parallel plate capacitor C having a
charge Q and area A, is

(1) independent of the distance between the
plates.

(2) proportional to the square root of the
distance between the plates.

(3) linearly proportional to the distance

between the plates.

(4) inversely proportional to the distance
between the plates.

An electron falls from rest through a vertical
distance h in a uniform and vertically upward
directed electric field E. The direction of electric
field is now reversed, keeping its magnitude the
same. A proton is allowed to fall from rest in it
through the same vertical distance h. The time of
fall of the electron, in comparison to the time of
fall of the proton is

(1) smaller
(2) 10 times greater
(3) 5 times greater

(4) equal

22.

23.

24.

25.

MBS IPFODQ, =TOTHT  QUOEDRIRTELY w0l B
TR0, SVBOIRENATI. 2,000 BT, 0NNIT LBTH WA
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BRBWBOTNG. 388 Fg 27°C I, 20 cm [T
73 em 3oy TNYY, 1.0BTR0ZT 2000 BROTTLBNER),
PUOLVBRBLRNG. B8 FRPD @R 320 Hz 3T,
27°C 8 movcd 3w Penl

(1) 330m/s
(2) 350 m/s
(3) 339m/s
(4) 300 m/s

2,000 EREVTRI) AR, HFTITORN BLBX TN eed
TOBLRNT 083 €T FZoZemN ITY Bone $oreedsnod
R00T 308 %083 WORIH Tord [T, WIOT 5 m
BR0EY, Sreedd noas SatpcdRrm 20 m/s? SN,
0T SOTRCVTT T WBHCIN

(1) 2ms
2) 2s
3) ms
4) 1s

363 Q WBY DRE A QTVW 2,080 208 IRIN0IT

7908 C 3 SRt FOTNE SROIT A0 DT WO

(1)  FoIRY IRIT BRVLOT ZS0ZTNT.

(2)  PUBRY TR BROT IRFVROT
EIROTECCTONS.

(3) Sedwon PUINY IO dradéﬂ 30T 0DTONT.

(4) T3NS IBNI dmdéﬁ QEReNIeCTING.

%édéojae?y 2,000 Q@@@aﬁ h m% @owdmdéﬁ 2,000
RRTRT 308y wow Hoeed B8 AT g E 39,
WeDTR. BN BT T BORRERITY, JTHONOR,
QB DTOGRRDR, JTIODYS 2080 FReET'RY s h
SR, vow BRTE WeILd PRORTWRBRNG.  Fp et
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TR0

(1) 3&D
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(3) 5 Tead T,

(4) =
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26.

217.

28.

29.

The kinetic energies of a planet in an elliptical
orbit about the Sun, at positions A, B and C are
K,, Kg and K, respectively. AC is the major
axis and SB is perpendicular to AC at the
position of the Sun S as shown in the figure.
Then

(1) Ky<Kp<Kq
(2) Kpg<K,<Kq
B) Ky>Kg>Kg
4 Kg>Ku>Kq

A solid sphere is in rolling motion. In rolling
motion a body possesses translational kinetic
energy (K;) as well as rotational kinetic energy
(K,) simultaneously. The ratio K, : (K; + K,) for

the sphere is

(1) 7:10
(2) 10:7
3 5:7
4) 2:5

A solid sphere is rotating freely about its
symmetry axis in free space. The radius of the
sphere is increased keeping its mass same.
Which of the following physical quantities would
remain constant for the sphere ?

(1) Angular velocity
(2) Rotational kinetic energy
(3) Moment of inertia

(4) Angular momentum

If the mass of the Sun were ten times smaller
and the universal gravitational constant were
ten times larger in magnitude, which of the
following is not correct ?

(1) Raindrops will fall faster.

(2) Time period of a simple pendulum on the
Earth would decrease.

(3) Walking on the ground would become more
difficult.

(4) ‘g’ on the Earth will not change.

26.

217.

28.

29.

RRODFS B0 DEPF FB FFDYTOT NBE WS J30d0
3w A, B 5083 C mgndg Ky, Kg 83 K¢ snsl.
AC oo @08 @gment), ¥enY, S 2redaddmed SB
030 AC 7 ©owmeNBesRad

(1) Ky<Kp<Kg

(2) Kp<Ky<Kq

(3) K,>Kp>Kg

4 Kp>Ky>Kq
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©nd03030e 8TonaE BeTsg (K,) IBogBainad,
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(1) 7:10
(2) 10:7
3 5:7
4) 2:5
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(2) Powad e DRRT, SReIT  FOIRE
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30.

31.

32.

33.

A toy car with charge q moves on a frictionless
horizontal plane surfacgunder the influence 0f_>a
uniform electric field E . Due to the force q E,
its velocity increases from 0 to 6 m/s in one
second duration. At that instant the direction of
the field is reversed. The car continues to move
for two more seconds under the influence of this
field. The average velocity and the average speed
of the toy car between 0 to 3 seconds are

respectively

(1) 2m/s, 4m/s

(2) 1m/s, 3:5m/s

(3) 1m/s, 3m/s

(4) 1-5m/s, 3m/s

A block of mass m is placed on a smooth inclined
wedge ABC of inclination 6 as shown in the
figure. The wedge is given an acceleration ‘a’
towards the right. The relation between a and 0
for the block to remain stationary on the wedge
is

A
2
a
m
C B
1) a=_—2
cosec 0

(2) a=gcosH

g
3) a=
@) sin 0
(4) a=gtan9 N R R R
The moment of the force, F =4i +5j — 6k at
(2, 0, — 3), about the point (2, — 2, — 2), is given by

A A A
(1) -8i-4j -7k

A A A
(2) -7i-8j -4k
A A A
(3 -4i-j -8k

A A A
4 -71i-4j -8k
A student measured the diameter of a small steel
ball using a screw gauge of least count
0-001 cm. The main scale reading is 5 mm and
zero of circular scale division coincides with
25 divisions above the reference level. If screw
gauge has a zero error of — 0-004 cm, the correct
diameter of the ball is

(1) 0521 cm
(2) 0-053 cm
(3) 0-525cm
(4) 0-529 cm

30.

31.

32.

33.

TRo0RT DTTE0S §e E TRR0oT B3 q B,
2,000 BUE 0 FRFEICLS §ox ABTOT ®ed
Foedd 39733, q E wodomnn <Td Sen wotdd Jedow®
FORRHONE, 0 00T 6 m/s 7§ DOFCTRNITT. & FarE),
3683 083 VOOTTT. B FEBT BYPoIL0WON 59T DFR,
QTR FBom g oo WIITF. 0 Fy 3 Iedownd
SRTW O FTIRO Fen 0B FTIIO wWRY

(1) 2m/s, 4m/s

(2) 1m/s, 3-5m/s

(3) 1m/s, 3m/s

(4) 1-6m/s, 3m/s

W B, BeedRTHOS, M TN, Lot DY, BT
BRET 0 DTOR WOt FeVTT 33w ABC Z0eD03.
WIBUT We ‘@’ WARZRFEDY ACBRNG.  HAYI0
WTBOT Boecs %dmﬁbﬁ@a a 303 0 IBINVT BOWORY

A
2

C B

(1) a= g
cosec 0

(2) a=gcosH

g
3 =
@ a=23

(4) a=gtan®
- A A A
wod zg, F =41 +5j -6k, (2,0,-3) 3
Nleln®) (2,—2,—2)5&@@3&@@?}3&503”,
1) -8i-4j -7k

A A AN
(2) -7i-8j -4k

A A A
(3) —4i-j -8k

A A JAN
4 -7i-4j -8k
0-001 cm 3R 1eaFOTOH 20T zﬁaw ees® g 2y
DTUHFOIN WO XY RECT WS 3 mﬁd?p}(
WYERBRRTI. BYS® Aer'S BRTI 5 mm T FIod
:1@@5 m:k RSo30  euedeads ab@%jcﬁ @Soeed 25 Rdn
BoRROTT. AR, Res's Bem, deesy) — 0004 cm sTT,

WRTT BOOIRT IR
(1) 0521 cm
(2) 0-053 cm
(3) 0-525cm
(4) 0-529 cm
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34.

35.

36.

37.

Which one of the following statements is

incorrect ?

(1) Rolling friction is smaller than sliding
friction.

(2) Frictional force opposes the relative motion.

(3) Limiting value of static friction is directly
proportional to normal reaction.

(4) Coefficient of sliding
dimensions of length.
Three objects, A : (a solid sphere), B : (a thin
circular disk) and C : (a circular ring), each have
the same mass M and radius R. They all spin
with the same angular speed o about their own
symmetry axes. The amounts of work (W)
required to bring them to rest, would satisfy the

relation

(1) We>Wg>W,
(2) Wg>W,>Wgq
(8) Wu>Wg>Wgq
(4) Wr>We>Wg

friction  has

A moving block having mass m, collides with
another stationary block having mass 4m. The
lighter block comes to rest after collision. When
the initial velocity of the lighter block is v, then
the value of coefficient of restitution (e) will be

(1) 05
(2) 08
(3) 025
(4) 04

A body initially at rest and sliding along a
frictionless track from a height h (as shown in
the figure) just completes a vertical circle of
diameter AB = D. The height h is equal to

B

1‘ O

A

(1)

(2 —-D

3 D

5
(4) ZD

34.

35.

36.

37.

B3 FINT LIRSS, 0000 2,080 Tewd FOaNE) ?

(1)  edhehd PREFBOID,
FRWOWTIT.

(2) PR WOTY TG aé@ﬁabz’;g{@dm@mgaﬁ.

(3)  AER PRFe3oD TOWE o0, wory B,gs o
©9R0TTVECCVTINTS.

(4) T PRELBOD IJMDFY  QVTD e:vodfasardgL
TBRODT.

2.0z3e 003 M 083 &2 R nisod A @ (20w 3 Rfeew),

B : (womd 3¢b Fgeodd 135) @083 C & (20w Fgeod

0orOT) 0Ly T FRNCER. RN B TNE ©wIB

oed 2.0Te RO BRI 0 BRoQN TOY@ONRRORET,

WM, e AS IBwn Wewordm FoRmy (W) 83

BowoGRT, FRBRAOITS

(1) Wg>Wg>W,

(2) Wg>W,>Wg,

3) Wp>Wp>Wg

(4) Wr>We>Wg

Epleb) PREBNOZ

Tod m 0T 20T BORNE DI ATINYT, Tod
4dm VT [RBROW o #om;;odmd.
RoPRIORT 0TS BRTTE  DAED Y AR
WATT. TOTeE DO TTORT Benxy) v swTe,
TP A TR0 (e) T LSz

(1) 05
(2) 08
(3) 025
(4) 04

T80T 2T9,080DT 2,000 F9030F) $03T h wFTLT
PRAETLE TIPS RRVT 00 (WFTY, EredRBI=03)
AB = D A8 2o wow BRI FORN
TPEFRRPIOZBORTTY, 230 h SRymE BxdmoNS ?

h B
o
l A
(1) %D
@ LD
3) D
) gn
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38.

39.

40.

41.

Two wires are made of the same material and
have the same volume. The first wire has
cross-sectional area A and the second wire has
cross-sectional area 3A. If the length of the first
wire is increased by Al on applying a force F,
how much force is needed to stretch the second
wire by the same amount ?

(1) 9F
(2) 4F
3) 6F
4) F

A sample of 0-1 g of water at 100°C and normal
pressure (1-:013 x 10° Nm_z) requires 54 cal of
heat energy to convert to steam at 100°C. If the
volume of the steam produced is 1671 cc, the
change in internal energy of the sample, is

(1) 104:3J

(2) 42:2J
(3) 208:7dJ
(4) 845J

The power radiated by a black body is P and it
radiates maximum energy at wavelength, A,. If
the temperature of the black body is now
changed so that it radiates maximum energy at
wavelength %ko, the power radiated by it

becomes nP. The value of n is

1 —
(2)

3 =

81

(4) 256

A small sphere of radius v’ falls from rest in a
viscous liquid. As a result, heat is produced due
to viscous force. The rate of production of heat
when the sphere attains its terminal velocity, is
proportional to

1
@2 1
3) 2
@ 1t

38.

40.

41.

20T TRZNTN 30T Lotse BRNV0T  [WRELITI
TR Fo8NN. BRTOHe 2080 BT Dyear A 3089
NTBEZCD Bodod @@, ged Dyr 3A nd. wo F
WTONTRR BRTOT B0803 GVERES Al BT, TRTT,
DTS BoSoR) IR wF Fegd Twgwd emrdRN

we)ﬁa’%
(1) 9F
(2) 4F
3) 6F
4) F

100°C @02y m=R»F, w3d  (1:013 x 10° Nm™2)
90T 0-1 g & 2,000 BT 2edd, 100°C T RN
Bo[BrIoIRNed 54 wWURD DY WeEndIS.
UTOAT RS ™, 1671 cc =TT, IRTO0H Ww3OT
30808 33 030

(1) 104:3J
(2) 4224J
(3) 2087dJ
(4) 845J

2,00 3F) TN BToMoBT Ay S WRFF P a3y
row, Sgonay D8TERETAT. oAy 3domosdTe, Hox
A% 4 %

FYOR)  VTONRPIILY BN B TONT  HVFIOR),
WBEORTT, R3TRRVAT RFFR nP IRGS, n 3
e

@ 2

@)

@) -

81
4 —
@ 256
T SHATOR 2,000 188 RALY AT AT AN BRTY,
WeTR. ©wBT  TOmER  ANWOROTN T
UBGOIRMOTT. RROF) o8 FenBs) BIEwN LTS

00T BT IENS IR 0T Ee030mONTS

1) r

@2 1°
3 1
4) t
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42.

43.

44.

45.

An electron of mass m with an initial velocity
IT):VO/i\ (Vo > 0) enters an electric field
I_*]) =— EOIi\ (Ep = constant > 0) at t = 0. If A is
its de-Broglie wavelength initially, then its

de-Broglie wavelength at time t is

(1) _h

1+ eEo t

mVO
(2) Ayt
3) Iy (1+ e tj
mVo

(CYR
For a radioactive material, half-life is

10 minutes. If initially there are 600 number of
nuclei, the time taken (in minutes) for the
disintegration of 450 nuclei is

(1) 20
(2) 30
(3) 10
(4) 15

The ratio of kinetic energy to the total energy of
an electron in a Bohr orbit of the hydrogen atom,
is

(1)
(2)
(3)
(4)

01

=1
=1
=2

N

When the light of frequency 2v, (where v, is
threshold frequency), is incident on a metal
plate, the maximum velocity of electrons emitted
is v;. When the frequency of the incident
radiation is increased to 5v,;, the maximum
velocity of electrons emitted from the same plate
is vo. The ratio of v; to vy is

1 1:2
2 4:1
3) 1:4
4) 2:1

_)
42. m cvanod F03) T B V = Voi (Vg > 0)

43.

44.

45.

20T ot admy o &3 B = - Byl

(Eq = 45008 > 0) B3, 20 t = 0 TFedTS, TOoFHY,
Lo @TT B-we) 3ToM0ITITT, O t I, 2WT
&-239)7) 3C0wo3TH)

(1) 7‘—0

1+ eEiot

mVO
(2) Ayt
eE

3) A1 0 ¢
( ) 0( + mVO J
4) Xy
2,030 SeR03Re8Ted RAVS SEF ODTH)

10 QOFATNT, TBoPTEY, 600 Fosl, SRFODIT
noTy, 450 SR30VFND VPuS fedes SRcd 3R
PO (JWRNTY)

1 20
(2) 30
3) 10
(4) 15

WROS BORST BOBRE FFODE, 2,00 FSFTYSS IR7,
35 3 BUR 30D BRI SRTIR)

(1)
(2)

1

-1

(3) =1

(4) i—2

2,000 SRBT PUFT e 2V BRI (VQ, V) TRYY
©3) WY BT RARVATRN, TRTIRIT ASTINY
noxy Fery v; ST [T SWBRRRT IS
efdoéojaa’pﬂ 5v, ﬁzg;%mr{, 0 POBTOOT IRT IRI3
QN Moy Berty) vy STS vy [ Vg IBODI
20T

(D
(2)
3
4)

[

12

| NG T S S NG

1
14
1
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46.

47.

48.

49.

50.

Which of the following oxides is most acidic in

nature ?

(1) MgO

(2) BaO

(3) BeO

(4) CaO

The difference between amylose and amylopectin

is

(1) Amylopectin have 1—4 o-linkage and
1 — 6 o-linkage

(2) Amylopectin have 1 — 4 o-linkage and
1 — 6 B-linkage

(3) Amylose have 1—54 o-linkage and
1 — 6 p-linkage

(4) Amylose is made wup of glucose and
galactose

A mixture of 2:3 g formic acid and 4-5 g oxalic

acid is treated with conc. HySO4. The evolved

gaseous mixture is passed through KOH pellets.

Weight (in g) of the remaining product at STP

will be

1) 14

(2) 28

(3) 30

4) 44

Regarding cross-linked or network polymers,

which of the following statements is incorrect ?

(1) They contain covalent bonds between
various linear polymer chains.

(2) Examples are bakelite and melamine.

(3) They are formed from bi- and tri-functional
monomers.

(4) They contain strong covalent bonds in their
polymer chains.

Nitration of aniline in strong acidic medium also

gives m-nitroaniline because

(1) In spite of substituents nitro group always
goes to only m-position.

(2) In absence of substituents nitro group
always goes to m-position.

(3) In electrophilic substitution
amino group is meta directive.

reactions

(4) In acidic (strong) medium aniline is present
as anilinium ion.

46.

417.

48.

49.

50.

3RO & W RYY, CIRFTO ©F08 SRe0D ROLITTY
GolelAIN

(1) MgO
(2) BaO
3) BeO
(4) CaO

ERERT R wEERTET Y SEIVT FTID)

(1) exDEreETndd 1 - 4 a-wogd & 1 - 6
a-wocjd@td@oad

(2) @dgeﬁma’éjﬁsr{% 1 > 4 a3 1 - 6
B-woztﬁd&zﬁmobzﬁ

(B) wEemnd 1 - 4 o-wold & 1 — 6
B-wocﬁdﬁoqémo@tﬁ

(4) @dg}cirae:s@, RBRT =03 r{mﬁ%e:fﬁ@od
clovipientpint

2:3 g TonFT s @08) 45 g wwndE @

Q0B Brow Rogwesytinodrt (HeySO4) Heormen,

WBRBERMB 0 Zess) KOH wgne Soed

0008 NG STP b Q08T (VEIT 8rE)) M0 SE,

(1) 14
(2) 28
3 30
4) 44

@8 EREROD WIHVFNW T ROTRT WHEFNY
B20TT BRI TEPENTY, 0IRYTO FOAXRAE),

(1) 2RNFYED D7 Teadeod BT ITBNG I3
T F003RCHT LWORNYR.

(2) WFYE, BOCOT N YVDTIT/ATNGS.

(3)  oRRIRY QB ZBeadd 3oIRdew MOOXT DT
(BRBpeHT) AP SoIPOT.

(4) wR¥E  (WOTT)  ITeINY W[,
#&mﬁwodﬁ@@@o@d

BUO @R, BRFFTY, L0, Fe§esden Revawmen

Bowe-Fune RO IREOR)TO 590

(1) =383, rooRNed e, FERe MIoTy CIRTNR
BoeR-WTE BT

(2) =83, oY WDTRGDY, FHEre Mo

3O

csmmRReR ot WFE oIS,

(3) e AweRdT  TImBT  BEZOONIY,
@yRRe 0P Bowe ABerdTTINT.

(4) BTo == NPT, =T,  SROVD[F®
©C3RTON ANOIT.
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51.

52.

53.

54.

The compound A on treatment with Na gives B,
and with PClj gives C. B and C react together to
give diethyl ether. A, B and C are in the order

(1) C,HZOH, CoHg, CoH;5Cl
(2) CyH5CI, CoHg, CoH5OH
(3) CoHZOH, CoH;5Cl, CoH5ONa
(4) CyH5OH, CoH5ONa, CoH;Cl
(A)
substitution to form an alkyl bromide which by

Wurtz
hydrocarbon containing less than four carbon

Hydrocarbon reacts with bromine by

reaction is converted to gaseous

atoms. (A) is

(1) CH=CH
(2) CHg-CHg
(3) CH,=CH,
(4) CHy

The compound C;Hg undergoes the following

reactions :

3Cly/ A

Bry/Fe _ 7Zn/HCI
A —2 B = C

C7Hg
The product ‘C’ is
(1) m-bromotoluene
(2) 3-bromo-2,4,6-trichlorotoluene
(3) o-bromotoluene
(4) p-bromotoluene
Which oxide of nitrogen is not a common

pollutant introduced into the atmosphere both
due to natural and human activity ?

1) N,Oj
2 N,0
(3) NO,
4 NO

51.

52.

53.

54.

A Q0w Foodngem) Arerodo Na drodnit 882 B @03
PCl; Spotrt 882 C 0303), 8e@088. B 0= C s
TOTT BéFr Fuge' Ao ERETE. Iwdwen A, B
2033 C nied

(1) C,H5OH, CyHg, CoHsCl
(2) C,H;Cl, CoHg, CoH;OH

(3) C,HsOH, C,H,Cl, C,H;ONa
(4) C,H5OH, C,H;ONa, CoH;Cl

2,000 FAERFWFT (A), BRI Bed wIdd B
3ooDY, Y & WRFT SR A WIS
8030009, T, (4) TWFINOZ FRBD QTNI 20T LAY
FHER WD WERNBRRBIRT). TS (A) 030

() CH=CH
(2) CH,- CHy
(3) CH,=CH,
4) CH,

C7Hg Ro008%) B2008 30063303E, BB
3ClL,/A Br,/Fe 7n/HCI
20 A2 g Zn/HCL

7Hg
99, PUBLIRTHR ‘C’ c

(1) m-BeeRne HORD

(2) 3-&3@@5@@-2,4,6-%&@6@ EPORT

(3)  o-BreSre URT

(4)  p-BpeSne RO

RLTTIINOTND F0BY T 23e303e3F00T 0T0RTeT

Fedbmd  FERws ©3 @YY IR AHwN
BRIFFTERY ?

(1) N,05
@ N0
(3) NO,
4 NO
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55.

56.

57.

58.

59.

The bond dissociation energies of X5, Yy and XY
are in the ratio of 1: 0-5: 1. AH for the formation
of XY is — 200 kJ mol™’. The bond dissociation
energy of X, will be

(1) 200 kJ mol ™!
(2) 800 kJ mol !
(3) 100 kJ mol!
(4) 400 kJ mol!

When initial concentration of the reactant is
doubled, the half-life period of a zero order
reaction

(1) 1shalved
(2) 1istripled
(3) is doubled

(4) remains unchanged

The correction factor ‘a’ to the ideal gas equation
corresponds to

(1) density of the gas molecules

(2) electric field present between the gas
molecules

(3) volume of the gas molecules

(4) forces of attraction between the
molecules

gas

For the redox reaction
MnOj +Cy02” + H' —— Mn*" + CO, + H,0

the correct coefficients of the reactants for the
balanced equation are

MnO; C,07- H'
(1) 16 5 2
2 2 16 5
3) 2 5 16
4 5 16 2

Which one of the following conditions will favour
maximum formation of the product in the
reaction,

Ay (g) +By(g) = X5(g) AH=-XkJ?
(1) Low temperature and high pressure
(2) High temperature and high pressure
(3) Low temperature and low pressure
(4) High temperature and low pressure

55.

56.

57.

58.

59.

Xy, Yy #3083 XY 19 wrip wom oodrews 3303
g@owen 11 0°5 1 1 ex0eme8ndss, XY & Stme evRw)
AH 3 — 200 kJ mol™! 338 X, a3 wog aodeexd
B0

(1) 200 kJ mol ™!

(2) 800 kJ mol !

(3) 100 kJ mol™!

(4) 400 kJ mol™!

Bem0Ene TCoYE O AR ARTATS, AePed
BNFT B&E000D LTRFOIVB/RFS (LTF ©RQ)

(1) PR

() Boedmn SR>

(3) QoM

(4) WTRRHB SROTITYTID
BRTO  LRAOT  BOFTHTYOD  ETTE  Moed @’

F0TOOIPATITTI)

(1) =20 @rons Fom3o30

(2) @2 ¥rONRY FRAT AT FeSR)

(3) Qo @Iy M)

(4) 20 @MY IBONT STRFFHOD WO
BR300 BT, (VSR o WTIRF ) §,0300D

MnO; +Cy02” + H'—— Mn®>* + CO, + H,0

RoosReod  R0BCHBYD  BICARETING
ROF08NED
MnO; C,07- H'
(1 16 5 2
2 2 16
3 2 5 16
4 5 16 2

3PN CRE G030 BRLITOT BAEFTEITRE, MOF BRPET
U3 BOINTINLD LRIBAVTIMITT
Ay (@) +By(g) = Xy(g) AH=-XkJ?
(1) 3R 28 =B TP wer
(2) rlog =B B3 BT wIR
(3) AP T I3 TR wIB
(4)  rox T =B 3 13w
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60.

61.

62.

63.

Consider the change in oxidation state of
Bromine corresponding to different emf values as
shown in the diagram below :

- 182V - 15V
BrOy — BrO3 ——> HBrO

Br «<———— Br,

1-0652 V 1-595V

Then the species undergoing disproportionation
is

(1) Bro;
(2) Br,

(3) Bro;
(4) HBrO

Among CaH,, BeH,, BaH,, the order of ionic
character is

(1) BeH, < CaHy < BaH,

(2) BeH, < BaH, < CaH,

(3) CaH, < BeH, < BaH,

(4) BaHl, < BeH, < CaH,

In which case is the number of molecules of water
maximum ?

(1) 18 mL of water

(2) 0-00224 L of water vapours at 1 atm and
273 K

(3) 0-18 g of water
(4) 1072 mol of water

The correct difference between first-
second-order reactions is that

and

(1) the rate of a first-order reaction does not
depend on reactant concentrations; the rate
of a second-order reaction does depend on
reactant concentrations

(2) a first-order reaction can be catalyzed; a
second-order reaction cannot be catalyzed

(3) the half-life of a first-order reaction does not
depend on [A],; the halflife of a

second-order reaction does depend on [A],

(4) the rate of a first-order reaction does
depend on reactant concentrations; the rate
of a second-order reaction does not depend
on reactant concentrations

60.

61.

62.

63.

WRDIDT YUBHF D AT FToR) 3¢S wWed emf
BRYNIR Bozehioden 83 391 ST

- 182V - 15V
BrOy — BrO3 —— HBrO

Br

10652V CT2

1-595 V
TOMRTT FPNTRNTE), 93530 BOIRAT VWS ORMIYT0
(1) BrOg
(2) Bry
3) BrO;
(4) HBrO
CaH,, BeH,, BaHy n¢¢) ©c3ndd noend 30oind
3w

(1) BeH, < CaH, < BaH,

(2) BeH, < BaHl, < CaH,

(3) CaH, < BeH, < BaH,

(4) BaH,; < BeH, < CaH,

3INT CCRPYBOY, NOT F0s5,08> LT e0NTRI TpoOT

(1) 18 mL 8=, dedd

(2) 1atm 02y 273 K 3¢, svoens 0:00224 L =0,
Q603 Y

(3) 018 g =), Jedd

@) 107 BperaRy, Aed

BB OIRIAF [oBY Q0D §OIR[NE F0eFTEANY

SRS BOOINT FTI))

(1) SFR0 §od» INFT FTR) §0SRTOTTING Foed

UTOOWSTONGY, QD FOININFT TR
$,0339F00BNE FOTION WoeeS 900N

2 TIR SCIN[AFS 0300HE), HENBEFIRT

_z%)o:bosmg:L JFFS DRBLROT; Qgeadd
3,00RBRFS 3,0300308), 3,0INVHFBOOT
3,030TOFBLD TN

(3) IFS FINIAFS wGF @=QoIn (Al & Soed
UROOWINGY; Q0D JOINFNAFT BT
wBpaR [Al) Hoed wEwongHINT

4) TP FSRW[FT FR) §OSRTTING ATING
B0eS BROoNBIPNY; DICOD §OININFT IR
$,0309%T3NT FTI0 306 RLOWITING,
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64.

65.

66.

Which of the following is correct with respect to
— I effect of the substituents ? (R = alkyl)

(1) -NHy<-OR<-F
(2) -NHy>-OR>-F
(8) —-NRy<-OR<-F
(4) —-NRy>-OR>-F

Which of the following molecules represents the
order of hybridisation sp2, spz, sp, sp from left to
right atoms ?

(1) HC=C-C=CH
(2) CH,=CH-CH=CH,
(3 CHy,=CH-C=CH

(4) CHy-CH=CH-CH,

Which of the following carbocations is expected to
be most stable ?

NO,

Y H
NO,

v/ &

NO,

Y H

NO,

an

(D
(2)
(3
4)

<

64.

65.

66.

NS wdegnd -1 oo WeerdSon wémdoﬁﬁ
FoW0RRATOS TOOINT wododd (R = v o)

(1) -NH,<-OR<-F

(20 -NHy;>-OR>-F

(3 —-NRy<-OR<-F

(4) —-NRy>-OR>-F

FINT  engd YT BEowoN  2BOOT  WOT
TTSBREONTY, sp%, sp%, sp, sp RoBOCTTEITIY
B,3AQRIW)

(1) HC=C-C=CH

(2) CH,=CH-CH=CH,

(3) CHy=CH-C=CH

(4) CH3-CH=CH-CHg

BRWTOE  URFEET  LOIRSNYY, CIRRYTD  ITUR
R TB0TD LOEFRUTOTIINTS

NO,
Y H
NO,
y/ &
NO,

Y H

NO,

T

(D
(2)
(3)
(4)

o
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67.

68.

69.

70.

Magnesium reacts with an element (X) to form an
ionic compound. If the ground state electronic
configuration of (X) is 1s? 252 2p3, the simplest
formula for this compound is

(1) Mg,Xg
(2) MgyX
(3) MgX,
(4) MgsX,

Iron exhibits bce structure at room temperature.
Above 900°C, it transforms to fce structure. The
ratio of density of iron at room temperature to
that at 900°C (assuming molar mass and atomic
radii of iron remains constant with temperature)
is

V3
o =

3V3
442

43
3v2

1
(4) 5

(2)

3

Which one is a wrong statement ?

(1) Total orbital angular momentum of electron
in ‘s’ orbital is equal to zero.

(2) The electronic configuration of N atom is
1s2 2s2 Zp;lz Qp; Zp;

o L

(3) An orbital is designated by three quantum
numbers while an electron in an atom is
designated by four quantum numbers.

(4) The value of m for dzz is zero.

Consider the following species :

CN*, CN~, NO and CN

Which one of these will have the highest bond
order ?

(1) NO
(2) CN*
(3) CN~—
(4) CN

67.

68.

69.

70.

ds@%o&ao, X) 20w TOBAIP0DNT RBEFR  LWOINITE
Roo0gRR, IREIE, (X) 7 Wesd HCmFT  SWIAD
1s? 252 2p? =53 Boo303x A5 RR3H)

1) Mg,X,
2 MgX
(3) MgX,
4)  MggX,

3R IReBOD TITTY, bee 501 FeolT TWFI),
EReoRR. 900°C Nog TS BEY, fee Bood
3eoR8 TBI0IRA TRToITRRHITE. Bees 0B W
900°C & ZBMIE, YT TOTBOL SROTBH) (YT
BreenT®  00d BY TTRWED AT ]TT iR
%@cﬁmﬁd Q0T maﬁzﬁeﬁo)

V3
o =

33
42
443

3J2
1
@

FINTINYEY BT 2,080 FewFosw

(2)

3

(1) wi), 388 Epede0dd SBeRDY wond TR S
33809, AR BN,
(2) N TTRR0DS DT DIYRD)

162 252 2P} 2py 2p,

I R AAE

(8) womd  BEER Bwedd  wowRT  Rosdnvos
ARWAVLT BrNBYRR ol HCEF LY
FOURT BoLBNToT IRITVRIR)T.

(4)  d,2 mhm 3 3PP ARFIRNT.

QRNSE,

CN*, CN~, NO =53 CN
CIRETE TS WO (2205 Wog) T3

(1) NO
(2) CN*
(3) CN~
(4 CN
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71.

72.

73.

74.

75.

76.

Which of the following statements is not true for
halogens ?

(1) All form monobasic oxyacids.

(2) All but fluorine show positive oxidation
states.

(3) All are oxidizing agents.

(4) Chlorine has the
enthalpy.

highest electron-gain

Considering Ellingham diagram, which of the
following metals can be used to reduce alumina ?

(1) Fe

(2) Mg
3) Zn
4) Cu
The correct order of atomic radii in group 13

elements is

(1) B<Al<In<Ga<TI
(2) B<Ga<Al<Tl<In
3) B<Al<Ga<In<TI
4) B<Ga<Al<In<Tl

In the structure of ClF3, the number of lone pairs
of electrons on central atom ‘CI’ is

(1) one
(2) four
3) two
(4) three
The correct order of N-compounds in its

decreasing order of oxidation states is
(1) HNOs3, NO, N,, NH,Cl

(2) HNO,, NH,CI, NO, N,
(3) HNOj;, NO, NH,CI, N,
(4) NH,CI, Ny, NO, HNO,

Which one of the following elements is unable to
form MFG3 “ion ?

1) Ga
(2 B
3 Al
4) In

71.

72.

73.

74.

75.

76.

T,SRERTNRY W1} FINT CIES FePFOI0 BN,

(1) 2uRp HFBTYNR, &8 SHID BRET.

(2) Fpeox BeODIRY HYFP FIIT  GVSRFED
RSO, BRORITES.

(3)  2uRP WBRFITOND.

(4)  3RLOT° WUTE DETT T LOFIITROOT.

DQONRF  WIWY, WO, IINTORT  SReEd

RABODOOT WORDITITBRY, STHXE FUTOTR

(1) Fe

(2) Mg
3) Zn
(4) Cu

RR® 13 T GoBonyQ @Tmmwend §HNe BOAINT B[R
(1) B<Al<In<Ga<Tl
(2) B<Ga<Al<Tl<In
3) B<Al<Ga<In<Tl

4) B<Ga<Al<In<Tl
ClIF; TwE3c¢), deos, mommed ‘Cl doed 230w

QUTN 20830807 Boadoddd
(1) 2o

(2) e

(3) 2T

(4)  Sowed

Fencwm (N) Bpotdss BoosoEndg N & cugsre &y
RYQE 29> FOOIRT FROY

(1) HNOg, NO, Ny, NH,CI

(2) HNOg, NH,CI, NO, N,

(3) HNOg, NO, NH,CI, N,

(4) NH,CI, N,, NO, HNO,4

SUNS IR womd mE MF, eoinss) Snde
TG EONT

(1) Ga
(2) B
3 Al
4) In
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71.

78.

79.

In the reaction

OH O Nat

@ + CHCl, + NaOH ——> @ CHO

the electrophile involved is

®
(1) dichloromethyl cation (CHCl5)

€]

(2) dichloromethyl anion (CHCI,)

)

(3) formyl cation (CHO )

(4) dichlorocarbene (:CCly;)

Carboxylic acids have higher boiling points than
aldehydes, alcohols of
comparable molecular mass. It is due to their

ketones and even

(1) formation of intramolecular H-bonding

(2) more extensive association of carboxylic
acid via van der Waals force of attraction

(3) formation of carboxylate ion

(4) formation of intermolecular H-bonding

Compound A, CgH,(0, is found to react with

NaOlI (produced by reacting Y with NaOH) and
yields a yellow precipitate with characteristic
smell.

A and Y are respectively

HyC )~ CH, - OH and I,
{ M- CH-CHyand 1,

|

OH

¢ )~ CH, - CH, - OH and 1,

CH,

CHyq G OH and I,

(D

(2)

3

4)

71.

78.

79.

B3 BAEFTLTYOI DT,T FI0FOI0

OH O Nat

@ + CHCly + NaOH ——> @ CHO
®

(1) dameage wwans (CHCl,)

o
(2) BERIBRFS® &a° wodna® (CHCly)

@

(8) ™I iR (CHO)

(4) gigaghnzorers (:CCly)

wOBENRD sl WPy SER@IS  ZWIwmN

WRFIOT  SERYROON  BOUTEERE  @radTed

TROQTTR BRE FTwRF3OT SRR BWF ORI

VOB BROQTO F2TED

(1) ©083ea8 H 2050 cvotmnom)md

(2) VTR T SFRFEBOD WONOT TP EDF
ST TR DO ORI

(3)  FeRFEGers BOIRT® GVIZOIRNRIFYTO

(4) ¥ 298 H 2005ned evoesndmmd

CgH1p0 ow A Foodwgm) (Y =082 NaOH) 203

Jonoxd  NaOl  Seodr  R$rs  I90
DOTTAFH O30, STTIBORRBIR.
A 3 Y #go 330mn

@ HeC~ ) CH,-OH =3 I,
@) CH-CH, 3% I
o .
OH

¢ M- CH,-CH, - OH =3 I,

CH,

(4) CHj G OH =3 I,

26T
o)

(3
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80.

81.

82.

83.

84.

Match the metal ions given in Column I with the
spin magnetic moments of the ions given in
Column II and assign the correct code :

Column I Column IT
a. CO3Jr 1. \/§ B.M.
e ii. /35 BM.
c. Fe* iii. /3 B.M.
d. Ni%* iv. /24 B.M.
v. 15 B.M.
a b c d
1) iv v i i
2) v i ii i
3) i ii iii iv
4) i v i ii

Iron carbonyl, Fe(CO)jy is

(1) tetranuclear

(2) trinuclear

(3) mononuclear

(4) dinuclear

The geometry and magnetic behaviour of the
complex [Ni(CO),] are

(1) square planar geometry and diamagnetic
(2) square planar geometry and paramagnetic
(3) tetrahedral geometry and diamagnetic

(4) tetrahedral geometry and paramagnetic

Which one of the following ions exhibits
d-d transition and paramagnetism as well ?

(1) Cr0F”
(2) MnOj
(3) Cr,02
(4) MnO;~

The type of isomerism shown by the complex
[CoCly(en)sy] is

(1) Geometrical isomerism

(2) Ionization isomerism

(3) Coordination isomerism

(4) Linkage isomerism

80.

81.

82.

83.

84.

500 I 39, Sre@n wodndnds) Jerm), sowo I 8Y,
NG BOWROL T208eCD Wo,YBOR) B3 Foomi

EpeRn MGd@LGOS%M@ :
ool soooll
a. CO?’Jr 1. \/§ B.M.
b. Cr’t ii. /35 B.M.
c. T iii. V3 B.M.
d. NiZ* iv. /24 B.M.
v. /15 B.M.
a b c d
1) v v i i
Q) iv i i iii
3) i i iii iv
4) i v i ii

30 uRrAe” Fe(CO)5 womd

(1) o33oF ojus

(2) &

(3) o8 yess

4) o

33 Hodeedr ™

SRBOTEFOI

(1) SnF IR 239,008 308 BEIRTI0EOD

(2) ST BRBO 23,08 [dBY TTFI0ZECD

(3) AR §BReT TIFT (WBIW0FEDE W)
OB BO3RTI0SEOD

(4)  RBow3OR §EReT TIFFWAS W

[Ni(CO)yl w08 0=y  Bwodeod

TOTIFTDOSEC
FINT 0000 03T ToTB08e0cRT =023 d-d Tog=oes
OB, BWIFAOZT
1) Ccroy
(2) MnO,
(3) Cry02~
4) MnO:~
Rosecorsy [CoCly(en),] &5 OFT  ZRmORon)
BTEFRVQTD

(1) e08e0d IBMONE
(2) @038 I=HONS
(3)  RRoFeI> AR3ONE
(4) 3no&3 IBIONS
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85.

86.

87.

88.

Following solutions were prepared by mixing
different volumes of NaOH and HCI of different
concentrations :

a. 60 mL M HCI + 40 mL E NaOH
10 10

b. 55 mL M HCI + 45 mLL E NaOH
10 10

c. 75 mL % HCI + 25 mLL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

pH of which one of them will be equal to 1 ?

1) b

(2 d

3) a

4) ¢

On which of the following properties does the
coagulating power of an ion depend ?

(1) The magnitude of the charge on the ion
alone

(2) Both magnitude and sign of the charge on
the ion

(3) Size of the ion alone

(4) The sign of charge on the ion alone

The solubility of BaSO, in water is
2-42 x 1072 gL_1 at 298 K. The value of its
solubility product (Ksp) will be

(Given molar mass of BaSO, =233 g mol ™)
(1) 1:08x 1071% mo12 L2

(2) 1:08x 1074 mol2 L2

(3) 1:08x 10712 mol2 L2

(4) 1-08 x 107 mol? L2

Given van der Waals constant for NH;, H,, Oy
and CO, are respectively 4:17, 0-244, 1-36 and
3-59, which one of the following gases is most
easily liquefied ?

(1) NH,
2 O,
(3) H,
4) CO,

85.

86.

87.

88.

B8NS @58@7@5& DG PITORRED (W) 1YY, B
20 ATINSE NaOH 02y HCL mssi WD [RB
303ROTPNT

a. 60 mL E HCI + 40 mL M NaOH
10 10

b. 55mL M HCI + 45 mLL M NaOH
10 10

c. 75 mL % HCI + 25 mL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

eI, cinEc pH 2.omE IR
1 b
@ d

3) a

4) ¢
©OSRAT MOmNLE F3odn IINT cInx 1o wge

TPOTY B[O OWBTNT

(1)  ©0IRAS BoedT =863 BRI R,

(2)  =oIRIR Boeds 1¥F [T FReBB BRwed IRE,
(3)  ©0IRAT Meg, WRT,

(4) RIS Foeds $Be3T 1 BRE,

298 K 3¢ BaSO, = 28030 242 x 1073 gL
sT3 2e3To Roeawe) (Kyp) T SR

(SBT3 : wead2e8 BaSO, = 233 g mol ')

(1) 108x 1079 mol® L2

(2) 108x 107 * mol®> L2

(3) 108x10 2 mol®> L2

(4) 1:08x 10 mol®? L2

A3 cRondd,  cinmER)  wd
T,0eBORWBOITINGS

(BE0BRD 1 T BT ST 3 AoDTeosnsd NH,,
H,, 0, 3y CO, rert 3zown 4-17, 0-244, 1-36
=0 359 %)

(1) NH,

2 O,

(3) H,

4) CO,

RAoFN
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89. Which of the following compounds can form a

zwitterion ?

(1) Aniline

Benzoic acid

(2)

Acetanilide

3)

(4) Glycine

90. Identify the major products P, Q and R in the

following sequence of reactions :

Anhydrous
AlCI,
© + CH4CH,CH,Cl ———3—»
(@) O
——2 ___,Q+R
(ii) HO*/A
P Q R
CH,CH,CH; CHO
CH(CHS), OH
) @ @ CH,CH(OH)CH,
CH,CH,CH; CHO  COOH

@) CH; - CO — CHj

OH
CH(CH,), @

89. 3 T0ohIT Rood0IRSLE IR %@ﬁ? ©03RTIN

TRTF BB

(1) =0T

(2)  Worons® ey,

3) @%&saegw

1

(4)

90. [nodT RAxCed  ROBHY, (Ferdob)  TI0D

u3RRees P, Q o33 R 3 (Rosod) 8omsk@ond

ARFO

AIC,
@ + CH4CH,CH,Cl ———2 >

(@) Oy

T Q +R
(ii) H3O%/A

P Q R
CH,CH,CH, CHO
(1) @ @ CH,CH, - OH
CH(CH,), OH
@) @ @ CH;CH(OH)CH
CH,CH,CH;, CHO  COOH
w0 0.0
OH
CH(CH,),
@ @ CHj - CO - CH,
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91.

92.

93.

94.

95.

96.

What type of ecological pyramid would be
obtained with the following data ?

Secondary consumer : 120 g
Primary consumer : 60 g
Primary producer: 10 g
(1) Inverted pyramid of biomass
(2) Upright pyramid of numbers
(3) Pyramid of energy
(4) Upright pyramid of biomass

Natality refers to

(1) Death rate

(2) Number of individuals leaving the habitat
(3) Birth rate

(4) Number of individuals entering a habitat

World Ozone Day is celebrated on
1) 5% June

(2) 16t September

(3) 21 April

@) 22" April

In stratosphere, which of the following elements
acts as a catalyst in degradation of ozone and
release of molecular oxygen ?

(1) Carbon

(2) Fe

3 Cl

(4) Oxygen

Niche is

(1) all the biological factors in the organism’s
environment

(2) the range of temperature that the organism
needs to live

(3) the physical space where an organism lives

(4) the functional role played by the organism
where it lives

Which of the following is a secondary pollutant ?

(1) €O
2 SO0,
(3) CO,
4) 0,

91.

92.

93.

94.

95.

96.

3 FENT ToTOZT  WROT  IRE 000 WORTH
QT @s&mod WO ?
Q@ecdos i35z : 120 g
TE0T ¢38F : 60 g
TOHE wBEE: 10 g
(1) SSEIMT e DBTO0I QTN
(2) ﬁwﬁedmd RoaTy, LB
(3) 5§o§a QBT
(4) ﬁ%ﬁedmd ENBTI0I T

e300 (Natality) 0300 evefead=omgcd 5‘2{

(1) ST 3T

(2)  @zeRFROTOT ANFARIR FINe Fo,
(3) =IITT

(4)  eREgpoTE 2080 FeTdss [Ene oo,

2B BT DTN Le30RORT ?}.2(

(1) 53exmez®

(2) 163 AFowo

(3) 213enae®

(4) 223c o

3 IINT  DROGBNTY, SR  IORRLTY,
ReNRFeTDN B8R, ‘udqmqu ©ed8  SEEETIN
QPRI ?

1) o™
(2) Fe

3) Cl

(4)  ©[EIT

2z (Niche) @020

(1) Beod FOICTYT 2y YR I P
203N

(2) 22030 WHIBTOTINLD BIeFINIT LVHD &

(3)  BecdRomd TR WG mﬁd@g ?:E%%
DT YT wRodng  ABe3NY  wvmodeen
M@m%ﬁ%ﬁ wit

(4)  Beodpowd SDIN) WTIRYTID
TQREREORIT TSR T Tog,

33

)

B FINTYNIY, a0 QEe03rE [ROFFTT ?
(1 CO

2 SO,
3) CO,
4) Oy
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97.

98.

99.

100.

101.

102.

103.

What is the of NAD"
respiration ?

(1) It functions as an enzyme.

(2) Itis anucleotide source for ATP synthesis.
(3) It functions as an electron carrier.

(4) It is the final electron acceptor for anaerobic

respiration.

role in cellular

Oxygen is not produced during photosynthesis by
(1)
(2)

Green sulphur bacteria

Cycas

(3) Nostoc

(4) Chara

Which one of the following plants shows a very
close relationship with a species of moth, where

none of the two can complete its life cycle without
the other ?

(1) Hydrilla
(2) Banana
(3)
(4)
In which of the following forms is iron absorbed
by plants ?

(1)
(2)
(3)
(4)
Which of the following elements is responsible for
maintaining turgor in cells ?

o)
(2)
(3
4)

Double fertilization is

(D

Yucca
Viola

Ferric

Free element

Ferrous

Both ferric and ferrous

Magnesium
Potassium
Sodium
Calcium

Fusion of two male gametes of a pollen tube
with two different eggs

(2)
3

Fusion of two male gametes with one egg

Fusion of one male gamete with two polar
nuclei

(4)

Pollen grains can be stored for several years in
liquid nitrogen having a temperature of

(1) -120°C
(2) -196°C
(3) -80°C

(4) -160°C

Syngamy and triple fusion

97.

98.

99.

100.

101.

102.

103.

2esgRedeoD turTSEE NADY 950 w08, 00 ?

(1) 3c9oN TCDFATFLRINE.

(2)  ATP Rogemrirt am S 30ieetw
RoTIRUTONTZS.

DETYT TN FIOIF VT LD,

a0 GVATHLTY, AT 08RO LTI

3
4)

R£5TTNTIZS.
B 8ROZERBOD Y LT AT, w03 &MFPA),
(1) @3> Rogss papk-elenip)
(2) Fsz
(3)  owF
(4) ewoo
WO BYRT  TI3onm ¥R @wSeBITT  RoWOR

QORBERORTOT, WHORIY, CIRPYTR Lol SRHOTD
BT ReDI  WIWY, oerorkevIORNT AN B3
FSNIRNTS, 03RR)TomT

W) Fser

(2) ¥

(3) oty

(4) @odeee

B3 3INT 00T TRTTE, 32)F05) FZNTOT &eBOBIROY,?
(1) oz

(2) =Bog g

3) oz

(4) FoF I FoFNSTER

Besteedn wniro” (Turgor) ws) RoyReRdRY 35 39N

039 26200 BRTWMOTTINTIZSS ?

(1) da?leéojao

(2) Fpwedodo

(8) Rnesodo

(4) 59000

8, Qe 020w

(1) ToNTYTYTIR 2TED 1ot DOTENTY TR
maimd £90TOLONE 23008 B003RENTININF

WOT LOTENNT RS ATE N0y Dormweadns
ToC3RENTONINT

2000 NOBIAOTVED TR oWecFRESTeoT NS
%3 BocdeenmonINg

(4) om0 B3 EFoodRenzmnINg

3 FHBONY, BFTCRTE TTRTIZY, ﬁmﬁdemﬁeﬁs\;
DO IRFNY T FeADDITLROITINT

1) -=120°C

(2) -196°C

(3) -80°C

(4) -160°C

(2)
3
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104.

105.

106.

107.

108.

109.

110.

111.

The stage during which separation of the paired
homologous chromosomes begins is

(1)
(2)
(3)
(4)
Which of the following is true for nucleolus ?
(1)
(2)
(3)
(4)

Pachytene
Diakinesis
Diplotene
Zygotene

Larger nucleoli are present in dividing cells.
It takes part in spindle formation.

It is a membrane-bound structure.

It is a site for active ribosomal RNA
synthesis.

Which among the following is not a prokaryote ?
(1
(2)
(3)
(4)
Stomatal movement is not affected by
(1
(2)

3
4)

Stomata in grass leaf are
(1)  Dumb-bell shaped
(2) Rectangular

(3) Kidney shaped

(4) Barrel shaped

The two functional groups characteristic of
sugars are

(1)
(2)
(3)
4)
The Golgi complex participates in
(1)
(2)
(3)
4)
Which of the following is not a product of light
reaction of photosynthesis ?

(1) ATP

(2) NADPH

(3) NADH

(4) Oxygen

Saccharomyces
Nostoc
Mycobacterium
Oscillatoria

Temperature

Oy concentration
Light

CO,y concentration

hydroxyl and methyl
carbonyl and phosphate
carbonyl and methyl
carbonyl and hydroxyl

Fatty acid breakdown
Respiration in bacteria
Formation of secretory vesicles
Activation of amino acid

104.

105.

106.

107.

108.

109.

110.

111.

2R3ERZNTOT  IRNRTOTRLTLIEI030NY  L3eBEBO30

SToPRATFIT 83 ToBTE,
(1) Ty BEse

(2) BoIRgHAE

(3) IR

(4)  rnwe

3negdeodmmonzacd (Nucleolus) 3 BowoQrmod &3
FINIINSE, IR0 RO ?

(1) PR3 BRoTOGTOB  ReBERINGS,  BReTFeos,
TROTFOINED dracs@daéﬁ

300> NTTIONY, 2% —aeﬁ.@eﬁaéd
ATRHOT @ad’oﬂnﬁé SR ANG.

3,03 Szjmmuae@ad ST 0T.2.T0FeR
%zmﬁd.

B3 FINTIINYY, 3T g 003mees e ?
(1) @yﬁ’dme@%ﬂﬁ

(2) sowe

3) dg}'v’faw%i@c\i)o

(4) eReERcO0TR

TT0R,e0 WOINTL ATT TR0 LMPIEL,
1) oz

(2) 0Oy 733

3) ¥

(4) COy 733

BT ASNIYT TS Tog,neh

(1) 20ome0RE ST0REENES
(2) tﬁojo@@d@@mﬁﬁ

3) Rwes womadQ%fmﬂﬁ
(4) &ezmOW @@d@@ﬁmﬂd

BBEONY  ROosgdR FONTI
nooRNSon3

(1) FEdwr == wegger
(2) UL T2 e
(3) wRRFI” = @oe%@@
(4)  BRFI B FEIT*

MmO Boderdrsy) VWY, LPNHEIOZS

(1) 788 &30 Iecs

(2) %e@oﬁmd@ LVTE

(3)  mRE ST v

(4) @d: STONECEW] g z%omé% RRYR0NT
33 é@ﬁﬁ@ﬁeﬁcﬁm OIRRT  B,ER0FeR
BO30ODYT QT ¢ ?

(1) ATP

(2) NADPH

(3) NADH

(4) Oxygen

(2)
6))

(4) mBob 39

Nolr®) @om;ég

o 38
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112.

113.

114.

115.

116.

117.

118.

Offsets are produced by
(1)
(2)
(3)
(4)
Select the correct statement :

(1) Franklin Stahl coined the term “linkage”.
(2) Spliceosomes take part in translation.

3

Meiotic divisions
Parthenocarpy

Mitotic divisions
Parthenogenesis

Punnett square was developed by a British
scientist.

(4)

Which of the following has proved helpful in
preserving pollen as fossils ?

(1) Pollenkitt
(2) Oil content
(3)
(4)

Select the correct match :

Transduction was discovered by S. Altman.

Cellulosic intine
Sporopollenin

(1) Alec Jeffreys — Streptococcus
pheumoniae
(2) Matthew Meselson —  Pisum sativum
and F. Stahl
(3) Alfred Hershey and - TMV
Martha Chase

(4) Francois Jacob and -

Lac operon
Jacques Monod

The experimental proof for semiconservative
replication of DNA was first shown in a

(1) Fungus

(2) Plant

(3) Bacterium

(4) Virus

Which of the following flowers only once in its
life-time ?

o))

Bamboo species

(2) Mango

(8) Jackfruit

(4) Papaya

Which of the following pairs is wrongly

matched ?

(1) Starch synthesis in pea Multiple alleles

(2) XO type sex Grasshopper
determination

(3) ABO blood grouping Co-dominance

(4) T.H. Morgan Linkage

112.

113.

114.

115.

116.

117.

118.

R (Offsets) RYd ev3gadnnomcd amoos
(1)  0c3ReE PwInsd

(2) ©RReHOI

(8) e VPRIRD

(4) RReTRIS

:;‘awaa‘ée%omdgteﬁoﬂ%dra@ :

(1) “Ooders™” BTBR), 037 AT BURBRLI.

(2) 2 JRTTYF | HO3RCAREROIND TURIIZS.

(3) I mﬁdﬁi @@%@@d@zﬁmﬂd& WIE LI
é)g;p@o&aod.

(4) % 8¢ [T 0T BT BEFT FoZRHIVL.

Toor=sy, TeWVINTY, BoTgRen B FINT AR

RHOOIB[0TO ERCOBVLITS ?

(1) Fpoz® 3 (Pollenkitt)

(2) @R

(3) Aoy drexrcdog Qo

(4) ARgeFSR

FORTTBHOLFODT, BOITRE :
1)
2)

F950° A.a3eeQodd
e F)

- eI TG

ST WO T - 3
&
&3
3)
4)

@%w TRE B WGor FeT* - £3.20.9.

59,0800007° ¥edne®
W03 WIRRTIT

- RF [ Gsteontv

.70, oD wIoTEHe BE TIITeE TBodnerogs
TYoITI WY, BRTLO BWF AT, AWOY,

(1) 3&e03,

(2) =3

(3) w3000

(4) o=

3@( REDTITRONQ, W) [T, BRWBIRTO SR ?
(1) 2o Bk

(2) S

8) ®m@oRd

(4)  Teow

85 39N WReRNYY, IR I BROQFIINE ?

(1) WERBoDY HRB BFERT  : WB0 @OeLdN
(2) XO 2c&0dh Qon JercdE 1 @S

(3) ABO T3 nooxR)=eEoas D ABDWOZ

(4) .35, Ieenea® : Oodees
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119.

120.

121.

122,

Winged pollen grains are present in
(1) Mustard

(2) Mango

(3)
(4)

Cycas
Pinus

After karyogamy followed by meiosis, spores are
produced exogenously in

(1D
(2)
(3)
4
Which one is wrongly matched ?
(1)
(2)
(3)
(4)

Neurospora

Agaricus

Alternaria

Saccharomyces

Uniflagellate gametes

Polysiphonia

Gemma cups —  Marchantia

Brown algae
Chlorella

Biflagellate zoospores

Unicellular organism

Match the items given in Column I with those in

Column II and select the correct option given
below :
Column I Column II

a. Herbarium i. Itis aplace havinga
collection of preserved
plants and animals.

b. Key ii. A list that enumerates
methodically all the
species found in an area
with brief description
aiding identification.

c. Museum iii. Is a place where dried and
pressed plant specimens
mounted on sheets are
kept.

A booklet containing a list
of characters and their
alternates which are
helpful in identification of

various taxa.

d. Catalogue iv.

a b c d
1) i iv iii ii
(2) i iv iii i
(3) iii ii i iv
(4) iii iv i ii

119.

120.

121.

122.

Siwadod BoON TeaonFo VTR 9.

(D
(2)

TORT
B
3) oz
4) gz

BpedEeorn, TOOEALIND QOOST  BT03T  WERBALR
2080230F BN GUBZOIRNIRT ATTY,

(1) &gdezieoe

(2) emoss®

(3)  woFeroodn

(4) A EdReAT

ATV, CIRR)T FIEBROOFOINNG ?

(1) @8 3z00n=&S oS - TIVFPECTR

(2) AR Bwensd - SRFFOS0IR

(3) B FTOONRLE WOWERINA - 30T FRO

(4) 0T Boedecdd 3o - 8pden

500 I 3583 Fovo I 8¢, 30BRNYI) FOWRN BHOD :

o001 o011

a. TFeroodo i 2BRORD FoTHIT AZNIR) [o8Y
TRENIR) BOXTT AY.

b. ¢ i, BBeSFPpom3TE Foweod e
BUGNIS), B BB TS
SRRV TLIOIRNT), BT
NOBOERINER PTBONTIR0Z 0
Roges DBTBRISRIRRORTZS.

c. SWAODO il W LWENAE BRERTONT)
TIRIR T2 VORTI Y.

d. s iv. QT eRTNY ROTERER
£2R0BROBTTINTIT AT RINY
EveToie)
BoIRF OPNISRIRRORT
FLROIPAT.

a b c d

1 i iv 1ii il

2) i iv 1ii i

(3) iii ii i iv

(4) iii iv i il
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123.

124.

125.

126.

127.

128.

129.

Secondary xylem and phloem in dicot stem are
produced by

(1
(2)
(3)
(4)
Pneumatophores occur in
(1
(2)
(3)
(4)
Sweet potato is a modified
(1) Stem

(2) Tap root

(3)
(4)

Apical meristems
Phellogen
Vascular cambium

Axillary meristems

Halophytes

Carnivorous plants
Free-floating hydrophytes
Submerged hydrophytes

Adventitious root

Rhizome

Which of the following statements is correct ?

(1)

Ovules are not enclosed by ovary wall in
gymnosperms.

(2)
(3)

Horsetails are gymnosperms.

Selaginella is heterosporous, while Salvinia
is homosporous.

(4)

Stems are usually unbranched in both
Cycas and Cedrus.

Select the wrong statement :
(1)

Cell wall is present in members of Fungi
and Plantae.

(2)

Pseudopodia are locomotory and feeding
structures in Sporozoans.

3
(4)

Mushrooms belong to Basidiomycetes.
Mitochondria are the powerhouse of the cell
in all kingdoms except Monera.

Casparian strips occur in
(1)
(2)
(3)
4)
Plants having little or no secondary growth are
(1)
(2)
(3)
4)

Epidermis
Cortex
Pericycle
Endodermis

Grasses
Conifers
Deciduous angiosperms

Cycads

123.

124.

125.

126.

127.

128.

129.

OnY BFoRTY, QT Yoo ==
SUZOIRNRRTO BTO0T

(1) 3on IPrinss

(2) Fdprs

(38)  OVeod Feowoddo

(4) Bgeod IprIns

SRERUERE Fpeo NI aRNTYTIZ:S

(1) goRIND

(2)  HRomTO BZALO

(3)  RBoBERNTOE - Sewds wO FZNATO
(4)  RoONToR wORZNED

AT BRTFTIT 2,000

(1) =Zzo0d

(2) @o0203edd

(3) =oRONT 23eTO

(4) BedbTEo0n

B3 FINT BePINSE) IR TFORNS ?

(1) wgE VRIS,

©0TT OG0T S[OATORRE .
TR TN WP WeRIZNGINSS.
Fondy — YIWewIONE  ©uT
RROWEWTOIZ SNTI.

Forr DY ABIMICEOLR,  WRPTEN
IR F0BRY fd@omfﬁ;i FROOTIROY, .

FRED0

£90TBIEAONSO

(2)

3) FEOTR

4)

3 TBePFOR, B3 :

(1) 29comisd B  FIFNFAYY FRedpgosw
QTIT3.

(2) RARCRTPFTRYIY, WFTTn®  Towde [
HVEFROT TLISNTONI.

3
(4)

eaedrieh LIR03e BReswr Fedds.

Bdow  BRTBDIRY  LWIBR,  WBRRBNGY,
BYeERT0R 03RNY B2eRBREBT BIRT SNT.
T Re0030%" TP VBTYTOTES

(1)  W&TFTT

(2) s

(3) HoFzer

(4) 203333

@O BEme DZecDB IFRSrcde 2E IFNRYTT
(1) e FZAH

(2)  3oBo5R0 IZR

(3) TS[dew BHFBRewTZNRD

(4)  Azownd
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130.

131.

132.

133.

134.

135.

A ‘new’ variety of rice was patented by a foreign
company, though such varieties have been
present in India for a long time. This is related to

(1) Co-667

(2) Lerma Rojo
(3)
(4)

Sharbati Sonora

Basmati

Which of the following is commonly used as a
vector for introducing a DNA fragment in human
lymphocytes ?

(D
(2)
3
(4)

Retrovirus
A phage
Ti plasmid
pBR 322

In India, the organisation responsible for
assessing the safety of introducing genetically
modified organisms for public use is

(1) Indian Council of Medical Research (ICMR)

(2) Research Committee on Genetic
Manipulation (RCGM)

(3) Council for Scientific and Industrial
Research (CSIR)

(4) Genetic Engineering Appraisal Committee
(GEAC)

Select the correct match :

(1) Ribozyme — Nucleic acid

(2) T.H. Morgan — Transduction
(3) Fyx Recessive parent — Dihybrid cross
(4) G. Mendel — Transformation

The correct order of steps in Polymerase Chain
Reaction (PCR) is

(D
(2)
3
(4)

Extension, Denaturation, Annealing
Denaturation, Extension, Annealing
Annealing, Extension, Denaturation

Denaturation, Annealing, Extension

Use of bioresources by multinational companies
and organisations without authorisation from the
concerned country and its people is called

(1)
(2)
(3)
(4)

Bio-infringement
Biodegradation
Biopiracy
Bioexploitation

130.

131.

132.

133.

134.

135.

Q03T FINT WBIFONOT FTIBITOR, ot TR

SHle) 3@?0533% QTede FoBR3RoTD  Jeedoesr
TRRBRORBD VT o:ifad)déb ForoQrTosT

(1) Co-667

(2) S=0F Beedne

(38) 3Iwré nezome

(4) ma;é

B[RRI OoFpeFponvR BT .. &mé@od@{

BRBRRVILO WBRZN LUTOSRENTE 0TFRY S5
FSNAIRNTS, 030 ?

(1) oRzow

(2) A Peew

(3) Tizye

(4) pBR 322

PPOSRY, AOWFHIT  WITMPN  BR0BO  BeANIR),
BOWOWILY, BOTFBLOD BP08E BRBT TREMOOF
Eolobn] me@dOdd

(1) o3& Frseodd Jodnegmn Bome (ICMR)
(2) 3835 BRTERNTOT Fo3eerme I0é (RCGM)
(3)  Fxpds == §wose Fodnegme Bowe (CSIR)
(4) ®SwE BowAoDOOT BRY IFRFE AN

(GEAC)
FOWRT BROQECDR) BOB/RE :
(1) Feindys=r - [RFEDF S,
(2) @.3F. Benes - REE
(3)  Fyx T ®3m08) - Q083 Lr@me00m8003
(4) .Bode* - CRT03TE

TORTex Y© 00Ings® (PCR) 39F Fo3ns Zo0ins
Wog030TT

(1)  meCe3eddes, APRTTE, TTIEBS

(2) RyPTTTd, WFYTe3eFTed, TTORISTS

3) @—0538635 $3TeIesTed, WYPBHTD

(4)  RyPBBTe, TTIEET, ébm’dsée%o’sa
VBT FOTIND R0 FoFND 8 BoTIRVNE
weﬁéojoa}i VT BoWoHE T, doédd By agge
BRBIY T, FTC0FT QoT.

(1)
(2)
(3)
(4)

woiraefaéo O R00ET
woﬂm@ﬁ BeRD*
&)Oﬂ@@e&&u
2003RENT T EeTe
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136.

137.

138.

139.

The transparent lens in the human eye is held in
its place by

(1) ligaments attached to the ciliary body

(2) smooth muscles attached to the iris

(3) ligaments attached to the iris

(4) smooth muscles attached to the ciliary body

Which of the following hormones can play a
significant role in osteoporosis ?

(1) Aldosterone and Prolactin
(2) Estrogen and Parathyroid hormone
(3) Progesterone and Aldosterone

(4) Parathyroid hormone and Prolactin

Which of the following structures or regions is
incorrectly paired with its function ?

(1) Medulla oblongata : controls respiration
and cardiovascular

reflexes.

production of
releasing hormones
and regulation of
temperature,
hunger and thirst.

(2) Hypothalamus

consists of fibre
tracts that
interconnect
different regions of
brain; controls
movement.

(3) Limbic system

band of fibers
connecting left and
right cerebral
hemispheres.

(4) Corpus callosum

Which of the following is an amino acid derived
hormone ?

(1) Epinephrine
(2) Estradiol

(3) Ecdysone

(4) Estriol

136. SRITI  FHTY, TOTIFE  WRRTYH) TY  WNTY,

CRFTOOT LB

(1) 2deod Bewmg WorsEroRTIRN Inwoneor

(2) 20T ©0esBR0RTLE WYWO WOINNRPOT

(3) 00N ©ouBROBTVT ATFR0LNTOT

(4)  2eoDd Bewmd ©orBRORTIT BT ACINNOT

137. 3 3INS TOWRCFIONGY, CIRJT  SRIRHPTRAT

DT TR, BEIHRORT ?

(1) SERRTHD" TB2 TP, e

(2)  BsRROUS" =T TP TN ToRer T
(3)  FpeeigoooT ®oBY SLRERTHD®

(4)  TROGTIWT ToTRF RO BB P eI

138. &5 ZINTPYNYY, oInE TWIND eFE BRSO IR

30RnY RS Foateh tedainne ?

(1)  Fooe 2 TR 803003053 V00T
CROReERD %dodaéﬁ TooQHTe3
BE[rF §,03080e0303.
(2) FRPBIRT : ToRRFTINY WENE F0BY
SURZ OO, TR [
WSO8,
3) Sowoz %% N =1ove) mdéw?bod md%ééjdo
QOTVS BOTIT BTRBRTY
HRCRBRNEOTTS; WOBODZ)
Q0o0gRITT.
4) BT DB R0 WO FTWF
SRS OEFRRONYR, Lol
QUMY 3L,

139. 35 FNSINYY. IPPD wavRee BROCT TeTT

TOTRCEID

1) 3T

(2) sBmBIORT
(3)  ~BFRRe®
(4) se@om@
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140.

141.

142.

143.

144.

All of the following are part of an operon except
(1)
(2)
(3)
(4)

an operator
an enhancer
structural genes

a promoter

AGGTATCGCAT is a sequence from the coding
strand of a gene. What will be the corresponding
sequence of the transcribed mRNA ?

(1) AGGUAUCGCAU
(2) ACCUAUGCGAU
(3) UGGTUTCGCAT
(4) UCCAUAGCGUA

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column II

a. Proliferative Phase i. Breakdown of

endometrial
lining

b.  Secretory Phase ii. Follicular Phase

c. Menstruation iii. Luteal Phase

a b c

(1) il ii i

(2) i iii i

3 i iii ii

iii i ii

(4)

According to Hugo de Vries, the mechanism of
evolution is

(1)
(2)
3
(4)

Multiple step mutations
Phenotypic variations
Saltation

Minor mutations

A woman has an X-linked condition on one of her

X chromosomes. This chromosome can be

inherited by
(1)
(2)
(3)
(4)

Only daughters
Only grandchildren
Only sons

Both sons and daughters

140.

141.

142.

143.

144.

31 NS aop AN wIHIETR  HeO), womsY
TRODTEA

(D
(2)
3
(4)

%000 BSTTeWT*
20T DT T RO
:o;zd@@ [aWlaontaoerat=s)
200 WReEIT

AGGTATCGCAT 2080 mOmorods w0008
FoBeBTo o0 BTWRTINSCIRNTIZT TIMPHT IFLO ST
mRNA 0980T 38 &80T 3mRna0ne O3 ?

(1) AGGUAUCGCAU

(2) ACCUAUGCGAU

(3) UGGTUTCGCAT
(4) UCCAUAGCGUA

500 I 3583 Fovo I 8¢, 3OB0NIS) FOWRN BHOD :

goool oo Il
a. OFe0T i 0TREILDDT ITT
303 BO0TBMIR)TD
b. AFD T3 ii. FOBDTT B0
c. VLS T iil. QR o
a b c

(1) il ii i
(2) ii
3) i

4)

iii i

iii ii

iii i ii

BRRRE B FTTS FFT BEBNTIT T3,03 08T
(1) 230 Boesed S uer,

(2) BITRoR[oD FFBND

(3) mImS

(4) =83y Doy,

2.2) W&YOID 3‘\2 X Jear2o30a0s R0t X-302005
RSN BRoQTVTY.  TRHET Bt [EFBoB0NT
3303308033030

(1) By 0593 308

(2)  BeEent SnE,

(8)  Romosdzen =3

(4)  Rowd =083 Beay BTt [ws,
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145.

146.

147.

148.

149.

150.

In which disease does mosquito transmitted
pathogen cause chronic inflammation of
lymphatic vessels ?

(D
(2)
3
4)

Among the following sets of examples for
divergent evolution, select the incorrect option :

(D
(2)
3
4)

Which of the following is not an autoimmune
disease ?

(D
(2)
(3)
(4)

The similarity of bone structure in the forelimbs
of many vertebrates is an example of

(1
(2)
(3)
(4)
Conversion of milk to curd improves
nutritional value by increasing the amount of
(1) Vitamin D

(2) Vitamin By,

(3) Vitamin A

(4) Vitamin E

Which of the following characteristics represent
‘Inheritance of blood groups’ in humans ?

Elephantiasis
Ringworm disease
Ascariasis

Amoebiasis

Forelimbs of man, bat and cheetah
Brain of bat, man and cheetah
Heart of bat, man and cheetah
Eye of octopus, bat and man

Psoriasis

Alzheimer’s disease
Rheumatoid arthritis
Vitiligo

Homology
Convergent evolution
Analogy

Adaptive radiation

its

a. Dominance

b Co-dominance

c.  Multiple allele

d. Incomplete dominance
e.  Polygenic inheritance
(1)
(2)
(3)
4)

b, cand e
b,d and e
a,bandc
a,cande

145.

146.

147.

148.

149.

150.

85 FINT I OWSCDY Bpemrdsy AR
Bo08320838 BT Teod DoTRF UNY @8 Awpeodn
509N

(1) 2003z

(2) OO TOWES

(3)  sAOXRAT

(4)  0e0dAT

335 BINSYNIYTOR LTRETE RooPR c§edroes HFIT
ROWOPTLINNGY,  ARNYY, Foobew  Befeddmy
E:Soi%aifa@ :

(1) DR, =9 3083 383N BooormeeOned

(2) RO, RO, 303 8TIOI T

(3)  RY, BT, :0B TN FToD

(4) RRET, RO BB DDFT T,

81 IINTYNYY, IR ATRER  DTOPE TR
TOLOF TRIPDL,

(1) RRedoSRrT®

(2) ©d @TF TN

(3) TRV HPFGeST

4)  oudree

TOEITY  FIEOTNY  B0oWOT  BoRY  Te3FToHYI
AWZOIN VWY LVTRTHTT

(1) TeeEpeeN

(2) BISdroes BR

(3) @3weh

(4) ewEr SerodeEy

TOR0T FeRTD TO[STICIRMR SR TFeFeosn
SRY) AW B0 TRTT

(1) Qe D

(2) w0 By,

(3) QT A

4) QT E

g WIS oInm moeensdd  ‘T38 moomnshd
@K’Ddoéeoﬁaé’oﬁagﬁa°L BRIBIE, BEPRITS ?

ROTREF TLITWSRETI

AD BLITEReTD

WTBIROTYTOTTIEONED

LTI T2 ST

OV 90T

b, c S e

b, d @23y e

a, b3 c

a, c 23 e
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N
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151.

152.

153.

154.

155.

Which one of the following population
interactions is widely used in medical science for
the production of antibiotics ?

(D
(2)
3
4)

Commensalism
Parasitism
Mutualism

Amensalism

All of the following are included in ‘Ex-situ
conservation’ except

(1) Wildlife safari parks
(2) Botanical gardens

(3)
(4)

Sacred groves
Seed banks

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column I
a. Eutrophication i. UV-B radiation
b. Sanitary landfill ii. Deforestation
c. Snow blindness iii. Nutrient
enrichment

d. Jhum cultivation iv. Waste disposal

a b c d
(1 i i iii iv
(2) il iv i ii
3 i 1ii iv ii
4) i ii iv iii

In a growing population of a country,
(1)

pre-reproductive individuals are more than
the reproductive individuals.

(2) reproductive and pre-reproductive
individuals are equal in number.

(3) reproductive individuals are less than the
post-reproductive individuals.

(4)

pre-reproductive individuals are less than
the reproductive individuals.

Which part of poppy plant is used to obtain the
drug “Smack” ?

(D
(2)
3
4)

Flowers
Roots
Latex

Leaves

151.

152.

153.

154.

155.

33 BINTYNTY, 0333 2.0 TRSEBT QoLTYID” W)
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WIROTT
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e
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500 I 358 Fovo II 3¢, FOBONIR) FORA BROD :
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soeol
a. oouReEeTT i

b. A0 CRoT i @dsgs 0BT

QEF

c. Woowd BT jii. TPFooT BURTE

d. =37 30BeID® v, Ty, QAIRER
a b c d

(1 i i iii iv

(2) il iv i ii

3 i iii iv ii

4) i ii iv iii
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oL NET CRT PRSI M 7 7 BRTT T8 BHaDwo
PUTO3RENTBOZT

(1) PN

(2) Wedonsd

8) nBZe
4) 28N
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156.

157.

158.

159.

Hormones secreted by the placenta to maintain

pregnancy are
(D
(2)
3)
4)

hCG, hPL, progestogens, prolactin
hCG, hPL, progestogens, estrogens
hCG, hPL, estrogens, relaxin, oxytocin

hCG, progestogens, estrogens,
glucocorticoids

The contraceptive ‘SAHELT
(1)

blocks estrogen receptors in the uterus,
preventing eggs from getting implanted.
is an IUD.

increases the concentration of estrogen and

(2)
(3)
prevents ovulation in females.
(4) is a post-coital contraceptive.
The amnion of mammalian embryo is derived
from
(1)
(2)
(3)
(4)

ectoderm and mesoderm
mesoderm and trophoblast
endoderm and mesoderm

ectoderm and endoderm

The difference between spermiogenesis and

spermiation is

(D

In spermiogenesis spermatids are formed,

while in spermiation spermatozoa are

formed.

(2) In spermiogenesis spermatozoa from sertoli
into the

seminiferous tubules, while in spermiation

cells are released cavity of

spermatozoa are formed.

3

In spermiogenesis spermatozoa are formed,

while in spermiation spermatids are

formed.

4)

In spermiogenesis spermatozoa are formed,

while in spermiation spermatozoa are
released from sertoli cells into the cavity of

seminiferous tubules.

156.

157.

158.

159.

TFoEROOT NPF3IT AVFRH BRBLO  ZFCINRTMOB
TOBREFTONGD CINR)WOTT

(D
(2)
(3)
(4)

hCG, hPL, Zpinis, @peon s

hCG, hPL, §pRnes, sseesis

hCG, hPL, am@f&?a@ , DR, B3eEdneas
hCG, SpuRns, SRR,

oI ORI pleverod

RPeRBRET ‘TSed o3

(1) mPr3ncendton sdnris™ mnds) 3R,

BN ©woBAFBBIRAWRTI) SHCD0TS.
QT 2o IUD.

SRy DRI BURIE RoR FeRRIIE,
0T, FEREAISS.

9 GoN8 §0500H FoIT LFR M ATRETE.

(2)
3

4)

AP PR HTYTOm
OMOTINT

00T CIRRTOR
(1)
@)
3)
4)

BRTTROF 0B ROF,TRF
DG TRF Do LR TP,
2ATROF BB BOFTROF
TATTROF BB WHTROF

R0FO3REEINTTRR [0
RTyRR eS0T

:;:éaas-—oiaezﬁaf e /o0I

(1) ZBorodeedRTEY, IRNFUETRYL w08goinas;

T30 030e3TT, DOIRE LN GUZZOIRTOIH.

(2)  R0rdRefRTSY DOTIEERINS
Redper GEReBNLT FOOITTT® €33,2R,0N TOPE
WRNBINTT;  FR0F00eBTTRY, QOIRE 0N

SPCEIVRl St

(3)  BFo3ReERTRY, DOIRFEOND  GUZZOINTT;

TR0 030eBTTBEY FRI0F eI RTO GVIZOINNIZES.

(4)  BOFo3ReERTRY, NOIRFEIND  GU3gaIRTT;
FOFONEBTY, DOIRFEINTD B0

30,2008, RRRBERRTS,
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160. Which

161.

162.

of the following options correctly
represents the lung conditions in asthma and
emphysema, respectively ?

(1) Inflammation of bronchioles; Decreased
respiratory surface

(2) Increased respiratory  surface;
Inflammation of bronchioles

(3) Increased number of bronchioles; Increased
respiratory surface

(4) Decreased respiratory surface;
Inflammation of bronchioles

Match the items given in Column I with those in

Column II and select the correct option given
below :

Column I1

Between left atrium
and left ventricle

Column I

a.  Tricuspid valve 1.

b.  Bicuspid valve ii. Between right
ventricle and
pulmonary artery

c. Semilunar valve iii. Between right
atrium and right
ventricle

a b c

(1 i i ii

(2 i ii iii

3 i iii ii

4 i i iii

Match the items given in Column I with those in

Column II and select the correct option given
below :

Column I Column I1

a. Tidal volume i. 2500 — 3000 mL

b. Inspiratory Reserve ii. 1100 — 1200 mL
volume

c. Expiratory Reserve iii. 500 — 550 mL
volume

d. Residual volume iv. 1000 — 1100 mL
a b c d

(1) i ii i iv

(2) i iv ii iii

(3) iii i iv ii

(4) iv iii ii i

160.

161.

162.

R0 BOBY QOQPREBNE BOWOHATOZ B3 IPNT C3NH

s 0

QU FOIRN TFERTT RSO, BUOTHRAYS

@

(1)  wpmosecdpecony  Apos; oumdeEn  W0ed
FRooIRNORNT

(2) TBnE T330e33 Boeed ; 23,0803Rce0NY Fpeosd

WS ey T2

(3) wooscdneony TWERos; TFEREBTE  Boed
ot

(4)  3RROXCRT TRERBT Boeg ;W oseadpeOne
Aro

500 I 358 Fovo I 3¢, OBONIR) oA BRODK :

Fool gowoll

a. $30 Foou i QBRI Do R
TBFO% SRS

b. QB g0 i, 2oEB R0 BYSO
3835003 IR

c. ©TFIOT, Taokd iii. WOBIBEDF [T WO
TBFO% SRS

a b c

(1) iii i ii

(2) i ii iii

3) i iii ii

(4) ii i iii

50 I 2583 Fovo 11 3Y, BOBONTR) FORA BROD :

ool goooll
i 2500 — 3000 mL

ii. 1100 — 1200 mL

a. YRS ooomr

b. ‘&6523356’&6 ORI
TORTT

c. 2BpTeL30 OB iii. 500 —550 mL

EplIvkovey

d. 6%@35053@6 mw%w iv. 1000 — 1100 mL

a b c d
(1) il ii i iv
(2) i iv ii iii
(3) iii i iv ii
4) iv iii ii i
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163. Match the items given in Column I with those in

Column II and select the correct option given

below :

Column I

(Function,)

a.  Ultrafiltration

b. Concentration
of urine

c.  Transport of

Column II

(Part of Excretory
System,)

i. Henle’s loop

ii. Ureter

iii. Urinary bladder

iv. Malpighian
corpuscle

v. Proximal
convoluted tubule

d
iii
ii
iii

iii

Match the items given in Column I with those in

Column II and select the correct option given

urine
d. Storage of urine

a b c
1) iv v ii
2) v iv i
(3) iv i ii
4) v iv i

164.

below :

Column I

a.  Glycosuria

b. Gout

c. Renal calculi

d. Glomerular

nephritis

a b
(1) it ii
(2) i iii
3 i ii
4) iv i

1.

ii.

iii.

iv.

(¢

iv

iii

ii

Column 11
Accumulation of uric
acid in joints
Mass of crystallised
salts within the kidney

Inflammation in
glomeruli

Presence of glucose in
urine

d
i

iv
iv

iii

163. oo I 2023 o II 3Q, FmNNER FOURN TeoDA :

(D
(2)
3
(4)

164.

(D
(2)
3
4)

o001

(@cd)r)

S0} BRERONF
BRI T 0TI

TR, ATETF

[, Jev0H

iv

iv

ool

R BRERRO0IM

noes®

OB FRUBLG

iv

iv

oiaviesionien

ST Gesw

a
iii

ii

iv

ii

iii

ii

i

iii.

iv.

ii

ii

i

ii.

iii.

iv.

iv

iii

ii

oo Il
(RS @ gor)
B3GR I9F

0303 ee3T

EARTOCRANS)
B OeBONT FITEIST M
IR TIPS
ES%?,JD@‘

d

1i1

ii

1ii

iii

500 I 3583 Fowo I 8Y, 3OBONII) FOWRA BRHOD :

goooll

FoBONSE) 03005 BT
JeadTH

FoRZ0BS I BIH riéid
ORTH0DT Tod

MY GvooRRe
DRI E, #6;6063 903
Q3OF

d

iv
iv

iii
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165.

166.

167.

168.

Which
respiratory disorder ?
(1) Anthracis

(2)
(3)
(4)

of the following is an occupational

Botulism
Silicosis
Emphysema

Calcium is important in skeletal muscle

contraction because it

(D

binds to troponin to remove the masking of
active sites on actin for myosin.

(2)

detaches the myosin head from the actin
filament.

(3) activates the myosin ATPase by binding to

it.
4)

prevents the formation of bonds between
the myosin cross bridges and the actin

filament.

Match the items given in Column I with those in

Column II and select the correct option given

below :
Column I Column I1

a.  Fibrinogen i Osmotic balance

b.  Globulin ii.  Blood clotting

c.  Albumin iii.  Defence mechanism
a b c

(1) i ii i

(2) i iii ii

@) i ii iii

(4) ii iii i

Which of the following gastric cells indirectly
help in erythropoiesis ?

(1) Chiefcells

(2) Goblet cells

(3)
(4)

Mucous cells

Parietal cells

165.

166.

167.

168.

QRNTY, CIRTYTH 2,08 FFT0w0T TTERST ST ?
(1) esozR3°

(2) e OIRT
3)  rH3eerz®
(4) Qo

RO F0BoRE TO0H0 WRBE), DETS

(1) @pRpRs®  ®e3h WolRVBRRTT B0T0ET

o3RRS BoedTow S 303RET NNY

R00RTR) ERTBOTBIT0.

(2) Soodeeas* 3630533’)& Sy 203000033
LD BROIR)T0.

(8) Soodeean®  ATPodher B3R wodRom)To
B0aTOTT LT, BOTITNZITT.

(4) Sooieedd®  wHIeRBRY DIy T Tood

S@ BN WOTIT BERETT0.

500 I 3583 Fovo I 8¢, 3OBONIR) FOWRN BHODR :

ool oo ll

a. FudecEs i AR VAR
b. MO ii. OF SRnedns
c. BORO iii. ®oTgs g0
a b c
(1) i il i
2 1 il i1
3 i il 11l
“4) i iii i

T88e0 FHotoQ) 81 BINT CIREE MRF BBt Jeoues
0e803>€) FHo0 VREIZI

(D
(2)
3
4)

e BREBND
reeedes dpesnsh
BoBRT BN

ToETer B3N
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169.

170.

171.

172,

173.

174.

Which of these statements is incorrect ?
(1)

Enzymes of TCA cycle are present in
mitochondrial matrix.

(2)

Glycolysis operates as long as it is supplied
with NAD that can pick up hydrogen atoms.

3)
4)

Glycolysis occurs in cytosol.

Oxidative phosphorylation takes place in
outer mitochondrial membrane.

Many ribosomes may associate with a single
mRNA to form multiple copies of a polypeptide
simultaneously. Such strings of ribosomes are
termed as

(1)
(2)
3
(4)

Polysome
Plastidome
Polyhedral bodies

Nucleosome

Which of the following terms describe human
dentition ?

(1) Thecodont, Diphyodont, Homodont

(2) Pleurodont, Monophyodont, Homodont
(3) Thecodont, Diphyodont, Heterodont
(4) Pleurodont, Diphyodont, Heterodont

Select the incorrect match :

(1) Lampbrush — Diplotene bivalents
chromosomes

(2) Submetacentric — L-shaped chromososmes
chromosomes

(3) Allosomes — Sex chromosomes

(4) Polytene — Oocytes of amphibians
chromosomes

Nissl bodies are mainly composed of
(1)
(2)
(3)
(4)

Proteins and lipids
Nucleic acids and SER
DNA and RNA

Free ribosomes and RER

Which of the following events does not occur in
rough endoplasmic reticulum ?

(1)
(2)
3
(4)

Protein folding

Cleavage of signal peptide
Protein glycosylation
Phospholipid synthesis

169.

170.

171.

172,

173.

174.

QRNTE 0300 Tewd oo ?

(1) TCA AT 3ENEd B EiRes0R 03
BRFTOTOZS.

(2) R T QegpermodRoR Sdobes NAD nY

BpPFodeotnt FREERT® WeonY THWTOXD 2.0T.
R FGRT ERBETTY SB00IT.

iderdes  @oRREOEES  BYEEReE0R 0N
BRTFPTE, IBc30I3.

3
(4)

TOD FLIRFReROND 2830, FeoRB3ReNnBRoIN
20> mRNA ¥r8 382> wamd ZEnd TITT B3
QT0ITN  BOIRTY  BRWITH.  @ozH  WRSRART
JudneRemoons godn FITO

1) TOZeeRF

(2) =RedReERT

(3) w3 IS0 TednREd

(4) BR3BRAREST

B N3 ains Syndd @nass  dosddsanb
2R0R033 ?

1
®)
3)
@)

SeBRETO0LS, c%apoiraemo@s, DRCTINCTT0E3

TR,; TR0, BRVRCLOIRTON, BB
SeBRTIOS, c@&oﬁmmoa, DE3TRETBIOLS

R, BremEo0t, TFHodRemoots, TR0

FOODUTEROBCIRY SORRE -

(D
(2)
3
(4)

TR Segreh S0a,moN FoSERIRNTIRE

(D
(2)
3
(4)

CROT U VEOFZOND ~ FRRELET B5ew0w
AP R0eF0LT W 3030 - L-5503 wear3o2d
LORTOT,RINEITT TWEIFBOBINED — DoNEF 30BN
TODLICT® WEAFB0BONT — LVFOITX 203

TPeeST® w8 AT R

BRgednee saned 02 SER
DNA 253 RNA

3Bog, Juindeeonid @8y RER

3 NI PUINTY 0IRPYT T Wo3T TIWPOTY,
(RER) 3Ba00e) ?

(D
(2)
3
4)

TP eI NS WRINF
o3ed B NS
Bpeweany 1§ Foades
TRROXERY VBT
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175.

176.

177.

178.

179.

180.

Which one
homeotherm ?

(D
(2)
3
4)

of these animals is not a

Macropus
Camelus
Chelone

Psittacula

Which of the following features is used to identify
a male cockroach from a female cockroach ?

1

Presence of a boat shaped sternum on the
9" abdominal segment

(2
3
4)

Forewings with darker tegmina
Presence of caudal styles

Presence of anal cerci

Identify the vertebrate group of animals
characterized by crop and gizzard in its digestive
system.

(1) Amphibia
(2) Aves

(3)
(4)

Reptilia
Osteichthyes

Ciliates differ from all other protozoans in
(1)
(2)
(3)

using flagella for locomotion
using pseudopodia for capturing prey

having a contractile vacuole for removing
excess water

4)

having two types of nuclei

Which of the following organisms are known as
chief producers in the oceans ?

o))
(2)
(3
(4)

Dinoflagellates
Cyanobacteria
Diatoms

Euglenoids

Which of the following animals does not undergo
metamorphosis ?

o))
(2)
(3
(4)

Earthworm
Moth
Tunicate
Starfish

175.

176.

171.

178.

179.

180.

B3 FINT T EINYY 2,000 WATE &3, 5500 ?

(D
(2)
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(4)
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2ERFOCR
e
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(D
(2)

VLI OITANGD

TIN

(3) =oz@wned
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RO03EIT OI0T TSN VBT &R, SQWEDNPNOZ WY
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(2)
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e

(D)
(2)
3
4)

uaRdes,
JIgZ0e

ALHCA/WW/Page 41

SPACE FOR ROUGH WORK

English/Kannada



SPACE FOR ROUGH WORK

ALHCA/WW/Page 42 English/Kannada



SPACE FOR ROUGH WORK

ALHCA/WW/Page 43 English/Kannada



Read carefully the following instructions :

1. Each candidate must show on demand his/her
Admit Card to the Invigilator.

2. No candidate, without special permission of
the Superintendent or Invigilator, would
leave his/her seat.

3. The candidates should not leave the
Examination Hall without handing over their
Answer Sheet to the Invigilator on duty and
sign the Attendance Sheet twice. Cases
where a candidate has not signed the
Attendance Sheet second time will be
deemed not to have handed over the
Answer Sheet and dealt with as an
unfair means case.

4. Use of Electronic/Manual Calculator is
prohibited.

5. The candidates are governed by all Rules and
Regulations of the examination with regard to
their conduct in the Examination Hall. All
cases of unfair means will be dealt with as per
Rules and Regulations of this examination.

6. No part of the Test Booklet and Answer Sheet
shall be detached under any circumstances.

7. The candidates will write the Correct Test
Booklet Code as given in the Test
Booklet/Answer Sheet in the Attendance
Sheet.
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